


D)3 206 @ 6206

6+0+5+(-8) =3 °|E=
8-4+9+0=3,0=6
6+Q+(-1)+6=3,0=-2




1 2] 200 749 A5 FNA o] A7k 3 4D E BT
2 A7

@ 570 (@)6711 @ 770 @ 87 ® 974

€8 ~
A4S n 9] oF59] 7|47t 3 7ol 7] flsiA=
1 3} n o]Qlof ek4=7} 3t Zigt ¢ QlojofstE R
A n 2 259 LA F4=0]ofof jhr
wrebA 1 FE 200 7HA] 9] A F-E ot
132 = 169 < 200 ©]11 172 = 289 > 200 °|B&
200 ©]5t8l A49] A FE=

22, 32, 5%, 7%, 112, 132 o]t}




BU0] 571 1270, 2070, 247021 HUEA] A, B, €7} Aol w B2
qlet. oluf, A HUEt17} S| As] Alabste] Tl A& 917
Soboeld AL 24% B W S| dskr] Tojoiat

v
o
IrE.

12=22x3,20=22x5, 24 =23 x 3 0|22 A| 9] FA4FH|
£ 93 x3x5=120°]t}.

3 12
A9 BASE 1—20 — 10 () ot

109




%0 Aoigle] 2 A4 §IoA 5 40 A Afolo] Agl7

oW =

E x ¥ (x>y) 2l 54,

<}
i

x| = [yl




6. AL -3HT7ZHoTpE1RG3AL 5 A %A B
o 2 Aol Q= HL ofdl SH A4 Zor?

—3—|2—I1(|) 1 2 3

®-2 @-1 ®0 @n G 2

A=-3+7=4,B=1-3=-2
4 9F -2 oM Z2 A2 = e




o

Akt gh2?

(=3) = (-10) = (=18) + (-6)

® -20 @ -15 ® -6 @)19

® +37

8

—
|

W

—
|

o
|

0) — (-18) + (-6)

+10) + (+18) + (=6)

—6) + (+10) + (+18)
(=6)} + {(+10) + (+18)}
6)} + {+(10+18)}

(+28)

s
wW W
— W o = =
+ =
++/\/\’—‘

(_

R RS
o L

—
[\
o

|
Ne)
~—

+ +
s
Ne)




=

o
Ho A2

oo
Mo

=
K3

@© (1) = (-1)00 @ (0.2)2<(0.2)3
@2 < (-2 (1) -2

@D-1<1
@ 0.04 > 0.008
® -8< 16




+1.4
7.1
2

+

-2.1

2
2
+ (-1.7)

++ o+ o+
0@ T T
O\U.A_.._l_qo Il S S H Yo
IT ! /n_\/l_ln\/n_\
~—

@0 ® ©® O




10. the 7o) e A9

<1 1 | \ |

< ) T T T T T

D ()-(-3) @ (+1)-(-3)
@ (-1)+(+3) G+ (-3)

1
-5 -4 -3 -2 -1 0 1




/\mgoﬂﬂ
= X

ES
-

e
o

(+5)
+{(=3)+(+3)}

(+5)+0

(+5
)+(=3)+(+3)
5

(-3
)+ (+
5)+(+
3)

N
g
o
E]

i~
L,
__OB

T

—

__,A_l
Gl
jans
il

—

_Z_l

L,
;OH

T

I~
s
o
E]

—

_X_l
s

jans
pild

—

,X_v
L

__OH
w
wr

o
g




HAoltt. 2

—

1

+2) + (+7) =49

+3)+ (-6) =-3
+6) + (-8) = -2

—~ o~

- (+6
- (+3
(+7
(+8
—(+
a
@
(+3
(+7
(+8

i TEF

@® KO KO = = =~
A A A A @00

@ (+3

O (

© (+2)-

® (+6) -
(+5
et

. Oe 3 uds sides uhg




13. t=2 ALttt

(=10) + (=8) = (=3) + (-2)

\VARR 4
0
i

.17

oo

0) + (-
-10) +
-18) +
-17

)= (=3)+(-2)
-8) 4+ (+3) +(-2)
+1

—
|
—~ —~ =
—~~
— —




14. 1-243-4+5-6+7-8+49-102 A5t}
B

>
|> b = S

oH =

B

1-24+3-445-6+7-8+9-10
=(1-2)+B-4)+(5-6)+(7-8)+(9-10)
=(-1D)+(-1)+(-1)+(-1) + (-1)

=-5




olJ
ol
Nfo

op







17. b= At & &7 g2 A27

@ (+18) = (-6) = -3 @ 0+(-4)=0

0 (9-(3)=3  warkes

@ (+18) + (-6) = -3

@0+(-4)=0
0(4)+(- (-
@—4+%:(—4)x2:—8

0 () ()= (=)=




18. ©thg I1PL B[ |gto] B0l

@®© +4, -5,+1 @ +4, -5,-1
® -4, -5 +1 @4 +541

® +5, -4, -1

g0l Dol A
714 THA] L B

A 4 et

dzmog v 7t ztoema 4 & AlZfsl A
oz oA 7t 2AFenE +5 & Pty




ofig

9|
s
G

N

—_
1o

el

< SAL WAL A, LAl o] SRt AIAT

o
=

19. o

.

z
® BT A AT WA A A

()=t ]deAR

3|
__0._
o

e,

-

o

Ton

~8

s
o

@ SAT B2 AFAHEE Atz ARt




e = At

=
=

20. =
ohe A1) At 4

ul
El

M)

A

ul
El

&0

ul
&

K0

ull
&

P

ull
&

K0

[y
1

__O._







22. H=< AxtshE?

—3+{
(9
(3




